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PART B - PHYSICS
31. Sol. (3)

No—N
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32. Sol. (3)

T =rth><103 N/m

£_£+‘A_h_m+0-_01

T r h| 125 1.45

%error:£x100:i+i:0.8+0.69:1.5%
T 1.25 1.45
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33. Sol. (2)

l'D g}'"mj.n

> logV

— —eV

min

N

=logV

min

Iog%— log 4

=log 4,,, =k—logV

*34. Sol. (2)
I=[3R*+(2] |RP=—
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*35. Sol. (2)

M (°

= Mgﬁsinez

=>a= 3gsmé’

2 (
*36. Sol. (4)
For ideal gas
C,-C,=R/M
If C, and C, are specific heats (J/kg—"C)
M = molar mass of gas

—=a=R/2andb=R/28
—=a=14b

*37. Sol. (3)

Final temperature of calorimeter and its contents is given, T, =75°C
=100x0.1x(75-T)+100x0.1(75-30)+170x1x(75-30)=0

= 75-T+45+765=0

=T =885°C

38. Sol. (2)
Modulated signal can be written as

C,(t)=(A +A,sina,t)sinaot
= C, (1) = A sint+ 22 0050, -, )t - L2 cos(, + @, )

Ay

where pu=-—"
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*39. Sol. (1)

Using, n= (ﬂj
RT

Pvil1l 1
ng—n =—|——=|moles
RI(T, T

5
_1x10 X3O( 1 _1 )x6.023x1023molecules
8.32 300 290

=—2.5x10®molecules

40. Sol. (3)

mx650x10°xD nx20x10°xD
= d B d

m - . .
=>—= = = minimum values of m and n will be 4 and 5 respectively.
n

B 4x650x107°x1.5

5x107*
=7.8mm

meter

41. Sol. (3)

m . .
mv=mv, + EvB (conservation of linear momentum)

SV=V, 4 V?B =V, —V, (elastic collision)
2 Ye_y

VA
L MgV,

ﬁ’B mAVA
A B A B
O— O oO— o—

v m Va VB
m —
2
Before collision After collision

4

www.tgcampus.com




|/// TOMORROW'S GENIUS

@ —— — EMPOWER YOUR LEARNING ——

' CAMPUS

42. sol. (2)

T=2x L
\JMB

6
:27;\/ 1307 eessec
6.7x10x0.01

So, time of 10 oscillations = 6.65sec

43. Sol. (4)

From the given information

¥y

L ‘Al

et}
lae!

Caszse-1 Case-1I

~.PE,sing = \/§PElsin(%+6’]
-.0=60°
44. Sol. (4)
Change in flux = Rjidt =250 Wb
*45. Sol. (2)

From impulse momentum theorem
1

jBtdt =my

0

~v=3m/s

So, work done by the force = AK.E.= %(l)(3)2 =45]

5

www.tgcampus.com




|/// TOMORROW'S GENIUS

—— ——— EMPOWER YOUR LEARNING ——

' CAMPUS
46. Sol. (1)
AE oc 1
A
A _AE _1
A, AE 3
47. Sol. (1)

Potential difference across each resistor is zero.

*48. Sol. (4)
v=u-—gt
49. Sol. (1)

%=2:>C=8,uF

Which requires eight 1.F capacitors in parallel.

= Minimum number of capacitors required is 32.

Ceq=C

FIFTFE-

--------

50. Sol. (4)
q=CV

_ CEr,

r+r,

51. Sol. (1)

In common emitter amplifier circuit the output voltage is out of phase w.r.t. input
voltage.
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52. Sol. (3)

The balanced condition is given by g: g ;When battery and Galvanometer are

Q

exchanged, it become %: E; which is same as previous

*53. Sol. (1)

For given SHM x = Asin wt

v=%= Aw cos ot
dt

KE = Lmv? = L mate? cos? ot = KE, (Mj
2 2 2
54. Sol. (4)
f ':( M] f,whereﬁ:!
1-B c

So, f'=17.3GHz

*55. Sol. (2)
F mg plAg
Stress=—=—="—==p/(
ATA A P
Stress;
0, =
Stress,
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56. Sol. (2)
i R
5 @ A —
i, =(R+R,)=V
R=Y R,
I
9
R=—10 _15-1985x10°Q
5x10
*57. Sol. (1)

The variation of magnitude of acceleration due to gravity is given by

g :(GRI\S ]d,whereOsdsR

=G—'\:|,Whered >R
d

*58. Sol. (2)
By applying pressure, AP = _Bé_v
\ B K

By increasing temperature, fractional increase in volume

—ﬂ=3aA9
V

fi:SaAH
K
p

A =——
3aK
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59. Sol. (2)

For diverging lens,

fi=25cm f2=20cm
— A
—

R
d=15cm

111 11 1

v u f v oo =25
=Vv=-25cm

First image is formed at a distance 25cm left to the diverging lens. For the converging
lens.

v —40 20
=v=+40cm

20 40

1 1 1 1 1 1
:>_
\Y

*60. Sol. (4)

1

1 \Y/
“mvi=mviy, =2
2 f 0 f

2

:mzlok
VO
-2
k= 10 =10"kgm™
10v, 10x10
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